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Graphs and Transformations Test 1

Q1
(M)

Almost the whole cohort gets
( r_lj either full marks or 1 mark (shape
V= f R

x=2a+1

of the curve) for this question.
Students has difficulty in handling

*—1 Most students failed to read
2

P'(l, 1) Y= Titas % _% . Thus the common

O mistake majority did was a
translation of 1 unit in the positive
x — direction followed by a
stretching of factor 2 parallel to
the x — axis.

A About 80% of the students are
able to identify the asymptotes
x=a, y =0 and the x-axis

intercepts P'(0,0), 0"(1,0).
- 1 Of these students, about 70%
P "(0,0) W got full marks as some students
couldn’t get the shape of the

curve. Most students
remembered to write the points
in coordinates.
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Q3
(i) 1—(-x)*
PO I+E—x;2
1—x?
- 1+ x?
=p(x) forallxeR (shown)
(i)

1 : :
Graph of q(x)= p[zx—-ﬂr), x R is obtained from the graph of p(x) by:
- Translation by 4 units in the positive x-direction, followed by

Stretch of factor 2 parallel to the x-axis.



